Math Analysis Name Kéﬁ
Review 6.1, 6.2, 6.5

Find the remaining angles and sides.
1. a=12 meters, b=31meters, L4=20
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4. Write the complex number in trig form: ~1++/3; \ﬁb k\ﬁt , : - l 1_
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5. Find the standard form (a+ bi} of the number. 5’(&)3 1;\:? sin135°)
‘ | —3536 + 3,3"“”?%3?}

6. Perform the indicated operation. (Leave in tng form
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8. Use Demowre s Theorem to find the indicated roots: 4" roots of 625
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Ch6 Review Wrkshb Name  Keu

. Show all work for credit. Please circle your answers.

1. Find all the rema]mng sides and angles given a=18,b=29, <4=26".
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4 Convert to tngonometnc form and sketch Z=wl=3 0 T g h
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5. Multlply and put in stazidard form: S(COS 25" +isin25° ) d:ZScos 95" +isin957)
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7. Evahiﬁté (exact answer and standard form), Draw a diagram. (\/’?7 _})s _
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8, ~ From firetower A. a fire with bearing” N78'E is sighted. The same fire is sighted
' - from tower B-at N51'W . Tower B is 70 miles east of tower A. How far is it
“from A to the fire? Draw a diagram.
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9, Alrports A and B are 450 km apart on an east-west line. Sandy flies in a northeast
direction from airport A to airport C. From C he flies 359 km on a bearing of

S %E to airport B. How far is C from A? Draw a diagram,
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Math Analysis - Name

Review 6.1, 6.2, 6.5

Find the remaining angles and sides.
1. a=12 meters, b=31meters, Z4=20

2. @=22 inches, b=12 inches, Z4=42"

3. a=142cm, b=075cm, c=125cm




4. Write the complex number in frig form; —1++/3;

5. Find the standard form (a+57) of the number. 5(003135“+z'sin135“) -

6. Perform the mchcated operatmn, (Leave in trig form)

(a) [ [cos-—-i-lsm ﬂﬂ[é(aos—+:s1n£)]
2 2 4 4

5(cos4.3+7sin4.3)
4(cos2.1 +1sin2.1)

7. Use Demoivre’s Theorem to find the indicated power: (1- z')!2

8. Use Demoivre’s Theorem to find the indicated roots: 4% roots of 6251
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Ch6 Reyiew Wrkshd Name

Show all work for credit. Please circle your answers,

1. Find all the reméjning sides and angles given a=18,b=29, <4 =26".

L.

2. Find all the angles given a=3,b =6, c=4.

o { __3.". 'Find the area of the triangle ifa=13,b = 20, c=27.

4. Convert to trigonometric form and sketch: PR oy TR R AR LR

5. Multiply and put in standard form: S(cos25” +isin25") 7(cos95" +7sin957)




Find the fourth roots of: 8+ Sx/gi

Evaluate (exact answer and standard form). Draw a dia am NC ’
gr

From ﬁretower A. afire with bearing N78°E is sighted. The same fire is sighted

from tower Bat NSI'W . Tower B is 70 miles east of tower A. How faris it

- from A to the fire? Draw a diagram.

AJIports A and B are 450 km aparl: on an east-west line. Sandy flies in a northeast
dzrectlon from airport A to airport C. From C he flies 359 km on a bearing of

o S38 40 Eto aerort B. How faris C from A? Draw a diagram:




